N & o & AF & H Al A
20189 = =0l & LB H ZAIH =t
2AM: SAHED
M oaDAe CAAA
Cels ADAS #eEs CANE 4 GEERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
S ALH = 0t 2,674,156 2,109,819 564,337
Xl 10,600
Al 2,663,556
ANANE SAAA 1,390,640 566,000 824,640
Xl 10,600
Al 1,380,040
a4Nae =8 ZAAHE =8 1,259,740 430,100 829,640
Xl 10,600
Al 1,249,140
SANHE & SSA¥E 29 21,360 19,400 1,960
201 Let24E] 20,360 18,400 1,960
01 At 22l 20,360 17,800 2,560
OZAZe (AR HEHIZE M2 DE
1,000,000& * 73] * 204 At 14,000
OZAIHE HMETH ZESE AIREE 4,600
OEZEZHWAX 35,0002 » 208 700
OEcdola 55,000& = 208 1,100
OE22H2d3 ItECX
110,000 = 44 « 23| 880
OEZ=2H dE 160,000& = 441 « 33| 1,920
OZgH ElH 220,000 = 44 « 23] 1,760
203 YR =] 1,000 1,000 0
03 AIHZ=XH 2 =AY 1,000 1,000 0
OZANYRF=A 1,000, 000& 1,000
HEN HINLHYLN SEAY F=W 627,780 0 627,780
401 Al HI R 201 I 627,780 0 627,780
01 A& HI 624,000 0 624,000
OLED 2D HEH &MY 24,000,000& 24,000
OFFAl R0 S UMY (ES
T7Eel, NAHAHDIE) 600,000,000& 600,000
03 Al =TI 3,780 0 3,780
OFFAl HEMLSIEAHAY AL 2
600,000,000& * 0.63% 3,780
HEH =< 2eldl 10,600 10,700 A 100
Xl 10,600
202 o4dl 10,600 10,700 A 100
Xl 10,600
01 = LH o4 1l 10,600 10,700 A 100
OML M2 2eldl(48) 20,0008 * 5302 10,600
Xl 10,600
ZIN0IEHEAE MM HE SHAAE TAIAHE = 200,000 200,000 0
E:,J
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SAIHE D
4DNS TAAY
ADAS #=EE TANEY 2

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Ei HR=2
207 S0 & 200,000 0 200,000
01 | 200,000 0 200,000
OZ Al Z2IHE Z2H(BHZA)EA 200,000,000 200,000
9Ess 8 TAAHE L AFREHRAAHE HAELH =€ 400,000 0 400,000
207 I | 400,000 0 400,000
01 Y| 400,000 0 400,000
OLUEE 5 -9H TAHE & N2SHRAAHE T
Ul =8 84 400,000,000 400,000
ANSAHEAMH S MG 15,900 15,900 0]
WaUese XNSHE8egHd5 =8 15,900 15,900 0
201 gEt2A | 14,900 14,900 0
01 AP 22| H| 14,900 14,900 0
O3l9ANEs ME(MYXZ 10,0008 * 2008 2,000
OXstAR HAEQ AIATH(X)
150,000& = 64 900
OXSAHA XX OFLH 2 XF &2t
10,000€ * 1,0008 10,000
ONEAHEY CHUE HI& 1,000& = 1,000% 1,000
ONEHEY SE4+F 4,000€ » 2500H 1,000
203 € R F & 1,000 1,000 0
03 AIEH =X H 2 F XY 1,000 1,000 0
OXNHAHAL &4 =X 1,000,000 1,000
AT Sl HES A HFLHSD| 115,000 120,000 A5,000
CAHEHEMYHAH BEEs & 2H2e 115,000 120,000 A5,000
201 et | 115,000 120,000 A5,000
01 AP 22| d| 115,000 120,000 A5,000
OKRAS &g &« 22| 1,200,000& * 45.833kn 55,000
O/AS2UANAH 2H (N2 A 10,000,000 10,000
OWPISEI (X Al) 50,000, 000& 50,000
HESAAY (T AIHE D) 67,516 43,819 23,697
oA 2AY| 10,512 8,359 2,153
ol 4| 10,512 8,359 2,153
101 2121 ] 10,512 8,359 2,153
02 JIEtE 2 % 10,512 8,359 2,153
OYINH HAN EZR224Y
10,540 = 2% = 30Al2t ~ 12& 7,589
OAZtHEH LUIH =22
8,117& * 30AI2t = 128 2,923
JlE&ddl 57,004 35,460 21,544




M SAIHED
M HHE2IAH (ZAIHED)

& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
JlE&l 57,004 35,460 21,544

201 £B-2d| 21,556 15,060 6,496
01 At 22l 21,556 15,060 6,496
OJl2gd+dasdH(JIEZHl)
500,000& = 179H 8,500
O3t (JI&ZHl)
8,000& = 17 * 8¢ » 12& 13,056
202 04l 22,848 16,200 6,648
01 = LH YI 22,848 16,200 6,648
o=uold (I1=24l)
20,0003 » 17& = 82 « 122 * 70% 22,848
203 YR =] 3,600 4,200 A 600
04 FANSEHE=LH 3,600 4,200 A 600
O©JIEH (209! Olct) 300,000& = 12& 3,600
405 XHoHF S HI 9,000 0 9,000
01 HaLSZ3 S| 9,000 0 9,000
O=E=2H 9,000,000& * 1CH 9,000
HRES(ZAIAHED) 1,216,000 1,500,000 A 284,000
HEAHHK = 1,216,000 1,500,000 A 284,000
HEAHHX & (= A& D) 1,216,000 1,500,000 A 284,000
701 JIEtSI HESEES 1,216,000 1,500,000 A 284,000
01 JIEteI HE =2 1,216,000 1,500,000 A 284,000

OUXNEL SE3

H 8&3= 1,216,000,000& 1,216,000




